<o @> (rad)

< 00, > (M)

RatioI

<opyp, > ()

o
[N

e
[
ul

< o cot(y) >

..........................................

o
N

.............................

obeei i b

1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

O I mToS NOPUTTEW
HeNQPL NEWASta speceres)
—XIMinus 8PU:NEW eaut specPlLess3
OPU_NEW eau specPLess4

100r T N N y T = 100

oo e
KO000d
7]
T
]
<
e o =

c
wn

t sEecPLessl

3333

®

o
I
Z
3

o
=]
I

N
o
I

PJo/ SRR RPN |11 AR 11111 S5 FEPCRRR CRURPER I o) -sRRORRr Rt £ 1111111 B2 01111 M SRR

..........

..........

3 2 -1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.95

..........

..........

.................

=

-1 o0 1 2 3
TP n (PCA to beamline)

[TTTT
|
N



	Contents
	Page 1


